WJAC		Contract # Schedule Dates Advertiser	6068141 08/27/24-09/02/24 DSCC Democratic S		al Campai	ign Committee (22946)	Date Entered Last Modified Entered By	04/	18/24 18/24 tthew Turner		Johnstown (WJAC) By Broadcast Month Sep. 2024	<u>Spots</u> 128	<u>Rate</u> \$109,450.00
	d Hickory Ln stown, PA 15905	Agency Product	Great American Me POLITICAL ISSUE (-		CO-OP External #	No 107	775062		Grand Total:	128	\$109,450.00
		Brand	49/53/13198 (2014	4319)			Demo Order Type		5+R ormal				
Great American Media		Salesperson Sales Office Buyer Name	Locality/PHL, Philac Locality Philadelphi HUTSON,ANDREW	а	(2992)		Package Deal Commission %	15.					
3050 K St NW Ste 100		Phone/Fax CPE	/ 49/53/13198				Commission Net Total		5,417.50 3,032.50				
Washington, DC 20007		Account Types Billing Type	National/Political Is Weekly/Irregular	sue Ag	ency BRD		Sales Tax						
		Comments	JACQUELINE PINOU ***** THIS IS A CASH	H IN ADV	ANCE SCHE	DULE ****							
										_			
ine Line Type / Break Type (Ref #)	Dates	Sec Length	Run Times	SPW	Mo Tu	We Th Fr Sa Si	J Spots	Rate	Total		Station	Comment	: Ente
ine Line Type / Break Type (Ref #) 1.0 Normal Line / News (11)	Dates 08/27/24-08/30/24		News-Channel 6 News	SPW		We Th Fr Sa Si 1 1 1 1	1 Spots 4	Rate \$700.00		Johnstown (WJ		Comment CHANNEL 6 NEWS AT NOON	: Ente 4/18/2

2.0	Normal Line / SPOT (12)	08/27/24-08/30/24	1	:30 12:30P- Family	Feud 4		1 1	1 1		\$500.00	\$2,000.00	Johnstown (WJAC)	FAMILY FEUD	4/18/24
3.0	Normal Line / SPOT (13)	08/27/24-08/30/24	1	:30 1P- NBC-The To Hour 4	oday Show	4		x x		\$400.00	\$1,600.00	Johnstown (WJAC)	TODAY SHOW HODA/JENNA	4/18/24
4.0	Normal Line / SPOT (14)	08/27/24-08/30/24	1	:30 2P- News-NBC	News Daily	4	x x	x x		\$500.00	\$2,000.00	Johnstown (WJAC)	NBC NEWS DAILY	4/18/24
5.0	Normal Line / SPOT (15)	08/27/24-08/30/24	1	:30 3P- Dr Phil		5	x x	x x		5 \$400.00	\$2,000.00	Johnstown (WJAC)	DR. PHIL	4/18/24
6.0	Normal Line / SPOT (16)	08/27/24-08/30/24	1	:30 Orbit- [P]Judge Th Fr), [P]Judg We Th Fr)		5		x x		5 \$600.00	\$3,000.00) Johnstown (WJAC)	JUDGE JUDY	4/18/24
7.0	Normal Line / News (17)	08/27/24-09/02/24	1	:30 5P- News-Chan at 5p	nel 6 News		1 1 1	1 1		5 \$1,500.00	\$7,500.00	Johnstown (WJAC)	CHANNEL 6 NEWS 5P	4/18/24
8.0	Normal Line / News (18)	08/27/24-09/02/24	1	:30 5:30P- News-Cl News at 530p	hannel 6			1 1		5 \$1,800.00	\$9,000.00	Johnstown (WJAC)	CHANNEL 6 NEWS 530P	4/18/24
9.0	Normal Line / News (19)	08/27/24-09/02/24	1	:30 6P- News-Chan at 6p	nel 6 News		1 1 1	1 1		5 \$2,000.00	\$10,000.00	Johnstown (WJAC)	CHANNEL 6 NEWS 6P	4/18/24
					CON	IFII	RMATIO	N CONT	RACT					
Accepted-A	gency/Advertiser:		Dat	e:	Accepted-Statio	n:				Date:	Comments:			



Great American Media								
3050 K St NW								
Ste 100								
Washington, DC 20007								

Contract #	6068141	Date Entered	04/18/24
Schedule Dates	08/27/24-09/02/24	Last Modified	04/18/24
Advertiser	DSCC Democratic Senatorial Campaign Committee (22946)	Entered By	Matthew Turner
Agency	Great American Media (2231)	CO-OP	No
Product	POLITICAL ISSUE (ns) (1187)	External #	10775062
Brand	49/53/13198 (2014319)	Demo	A35+R
Salesperson	Locality/PHL, Philadelphia (2992)	Order Type	Normal
Sales Office	Locality Philadelphia	Package Deal	
Buyer Name	HUTSON,ANDREW	Commission %	15.00
Phone/Fax	/	Commission	\$16,417.50
СРЕ	49/53/13198	Net Total	\$93,032.50
Account Types	National/Political Issue Agency BRD	Sales Tax	
Billing Type	Weekly/Irregular		
Comments	Jacqueline Pinou ***** This is a cash in advance schedule *****		

Spots	Rate
128	\$109,450.00
128	\$109,450.00
	128

Line / News (2) Line / News (20) Line / News (21) Line / News (22) Line / News (23)	08/27/24-09/02/24 08/27/24-09/02/24 08/31/24-08/31/24 08/31/24-09/01/24 09/01/24-09/01/24	1	:30	5:30A- News-Channel 6 News at Sunrise 530a 6:30P- NBC-Nightly News 6P- News-Channel 6 News at 6p Wknd		1	1	1 1 1 1	1	1 1 1	5	\$400.00 \$2,500.00		Johnstown (WJAC) Johnstown (WJAC)	CHANNEL 6 NEWS 530A	4/18/24
Line / News (22)	08/31/24-09/01/24	1	:30	6P- News-Channel 6 News		-		7	1 7	7	5	\$2,500.00	\$12,500.00	Johnstown (WJAC)	NBC NITELY NEWS	4/18/24
Line / News (22)	08/31/24-09/01/24	1						i i								1/ 10/24
,		1	:30			1				1	1	\$1,200.00	\$1,200.00	Johnstown (WJAC)	CHANNEL 6 NEWS 6P-SAT	4/18/24
Line / News (23)	09/01/24-09/01/24			6:30P- NBC-Nightly News Wknd	1					x x	1	\$1,500.00	\$1,500.00	Johnstown (WJAC)	NBC NITELY NEWS	4/18/24
		1	:30	6P- News-Channel 6 News at 6p Wknd						1	1	\$1,500.00	\$1,500.00	Johnstown (WJAC)	CHANNEL 6 NEWS 6P-SUN	4/18/24
Line / SPOT (24)	08/27/24-09/02/24	1	:30	7P- Entertainment Tonight		1	1	1 1	1	1	5	\$1,000.00	\$5,000.00	Johnstown (WJAC)	ENTERTAINMENT TONIGHT	4/18/24
Line / SPOT (25)	08/31/24-08/31/24	1	:30	7P- Judge Judy Wknd						1	1	\$400.00	\$400.00	Johnstown (WJAC)	JUDGE JUDY	4/18/24
Line / SPOT (26)	08/31/24-08/31/24	1	:30	7:30P- Big Bang Theory Wknd						1	1	\$400.00	\$400.00	Johnstown (WJAC)	BIG BANG THEORY	4/18/24
Line / News (27)	08/27/24-09/02/24	1	:30	11P- 11:35P (EST)		1	1	1 1	1	1 1	7	\$1,000.00	\$7,000.00	Johnstown (WJAC)	CHANNEL 6 NEWS 11P	4/18/24
Line / SPOT (28)	08/27/24-08/30/24	1	:30	11:35P- NBC-The Tonight Show with Jimmy Fallon	5						5	\$400.00	\$2,000.00	Johnstown (WJAC)	TONIGHT SHOW W/ FALLON	4/18/24
								1	1							
				CO	NFI	RM	AT	ION	100	NTR	ACT					
			Date:	Accepted-Stati	ion:							Date:	Comments:			
	e / SPOT (28)		e / SPOT (28) 08/27/24-08/30/24 1	e / SPOT (28) 08/27/24-08/30/24 1 :30	e / SPOT (28) 08/27/24-08/30/24 1 :30 11:35P- NBC-The Tonight Show with Jimmy Fallon	e / SPOT (28) 08/27/24-08/30/24 1 :30 11:35P- NBC-The Tonight Show with Jimmy Fallon CONFI	e / SPOT (28) 08/27/24-08/30/24 1 :30 11:35P- NBC-The Tonight 5 Show with Jimmy Fallon CONFIRM	e / SPOT (28) 08/27/24-08/30/24 1 :30 11:35P- NBC-The Tonight 5 X Show with Jimmy Fallon CONFIRMAT	e / SPOT (28) 08/27/24-08/30/24 1 :30 11:35P- NBC-The Tonight 5 X X X Show with Jimmy Fallon CONFIRMATION	e / SPOT (28) 08/27/24-08/30/24 1 :30 11:35P- NBC-The Tonight 5 X X X X X Show with Jimmy Fallon CONFIRMATION CON	e / SPOT (28) 08/27/24-08/30/24 1 :30 11:35P- NBC-The Tonight 5 X X X X Show with Jimmy Fallon CONFIRMATION CONTRA	e / SPOT (28) 08/27/24-08/30/24 1 :30 11:35P- NBC-The Tonight Show with Jimmy Fallon 5 X X X X 5 CONFIRMATION CONTRACT	e / SPOT (28) 08/27/24-08/30/24 1 :30 11:35P- NBC-The Tonight Show with Jimmy Fallon 5 X X X X 5 \$400.00 CONFIRMATION CONTRACT	e / SPOT (28) 08/27/24-08/30/24 1 :30 11:35P- NBC-The Tonight Show with Jimmy Fallon 5 X X X X 5 \$400.00 \$2,000.00	e / SPOT (28) 08/27/24-08/30/24 1 :30 11:35P- NBC-The Tonight 5 X X X X 5 \$400.00 \$2,000.00 Johnstown (WJAC) Show with Jimmy Fallon CONFIRMATION CONTRACT	e / SPOT (28) 08/27/24-08/30/24 1 :30 11:35P- NBC-The Tonight Show with Jimmy Fallon 5 X X X X 5 \$4400.00 \$2,000.00 Johnstown (WJAC) TONIGHT SHOW W/ FALLON



Great American Media								
3050 K St NW								
Ste 100								
Washington, DC 20007								

Contract # Schedule Dates	6068141 08/27/24-09/02/24	Date Entered Last Modified	04/18/24 04/18/24	Johnst By Broa
Advertiser	DSCC Democratic Senatorial Campaign Committee (22946)	Entered By	Matthew Turner	Sep. 2
Agency	Great American Media (2231)	CO-OP	No	Grand T
Product	POLITICAL ISSUE (ns) (1187)	External #	10775062	
Brand	49/53/13198 (2014319)	Demo	A35+R	
Salesperson	Locality/PHL, Philadelphia (2992)	Order Type	Normal	
Sales Office	Locality Philadelphia	Package Deal		
Buyer Name	HUTSON,ANDREW	Commission %	15.00	
Phone/Fax	/	Commission	\$16,417.50	
СРЕ	49/53/13198	Net Total	\$93,032.50	
Account Types	National/Political Issue Agency BRD	Sales Tax		
Billing Type	Weekly/Irregular			
Comments	JACQUELINE PINOU ***** THIS IS A CASH IN ADVANCE SCHEDULE *****			

Johnstown (WJAC) By Broadcast Month	Spots	Rat
Sep. 2024	128	\$109,450.00
Grand Total:	128	\$109,450.00

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Times	SPW	Мо	Tu	We	Th	Fr Sa	Su	Spots	Rate	Total	Station	(Comments	Entered
20.0	Normal Line / SPOT (29)	08/27/24-08/30/24	1	:30	12:37A- NBC-Late Night with Seth Meyers	5		х	x	x	x		5	\$200.00	\$1,000.00	Johnstown (WJAC)	LATE NIGHT	W/ S MYERS	4/18/24
21.0	Normal Line / News (3)	08/27/24-09/02/24	1		6A- News-Channel 6 News at Sunrise 6a		1	1	1	1	1		5	\$500.00	\$2,500.00	Johnstown (WJAC)	CHANNEL 6	NEWS 6A	4/18/24
22.0	Normal Line / SPOT (30)	08/31/24-08/31/24	1	:30	11:27P- NBC-Saturday Night Live						1		1	\$500.00	\$500.00	Johnstown (WJAC)	SATURDAY N	IIGHT LIVE	4/18/24
23.0	Normal Line / SPOT (31)	09/01/24-09/01/24	1		11:37P- News-Full Measure With Sharyl Attkisson 2							1	1	\$500.00	\$500.00	Johnstown (WJAC)	FULL MEASU	RE	4/18/24
24.0	Normal Line / Prime (32)	09/02/24-09/02/24	1		8P- NBC-American Ninja Warrior (Monday)		1						1	\$1,500.00	\$1,500.00	Johnstown (WJAC)	AMERICAN N	IINJA WARRIOR	4/18/24
25.0	Normal Line / Prime (33)	08/27/24-08/27/24	1	:30	8P- NBC-Americas Got Talent (Tuesday)			1					1	\$2,500.00	\$2,500.00	Johnstown (WJAC)	AMERICAS G	OT TALENT	4/18/24
26.0	Normal Line / Football (34)	08/31/24-08/31/24	1		3:30P- Sports-NBC College Football Late						1		1	\$1,500.00	\$1,500.00	Johnstown (WJAC)	BIG10 SAT F	OOTBALL	4/18/24
27.0	Normal Line / Football-Premium (35)	08/31/24-08/31/24	1		3:30P- Sports-NBC College Football Prime				· · ·		1		1	\$5,000.00	\$5,000.00	Johnstown (WJAC)	BIG10 SAT F WITH PENN		4/18/24
28.0	Normal Line / Pre-Game (36)	08/31/24-08/31/24	1		7P- Sports-NBC College Football Pregame						1		1	\$600.00	\$600.00	Johnstown (WJAC)	BIG10 COUN	TDOWN	4/18/24
							i i												
					COI	NFI	RM	AT	ION	1 C	ONT	RA	CT						
Accepted-A	gency/Advertiser:			Date:	Accepted-Stati	on:								Date:	Comments:				



Great American Media								
3050 K St NW								
Ste 100								
Washington, DC 20007								

Contract #	6068141	Date Entered	04/18/24	Johnstow
Schedule Dates	08/27/24-09/02/24	Last Modified	04/18/24	By Broadca
Advertiser	DSCC Democratic Senatorial Campaign Committee (22946)	Entered By	Matthew Turner	Sep. 2024
Agency	Great American Media (2231)	CO-OP	No	Grand Total
Product	POLITICAL ISSUE (ns) (1187)	External #	10775062	
Brand	49/53/13198 (2014319)	Demo	A35+R	
Salesperson	Locality/PHL, Philadelphia (2992)	Order Type	Normal	
Sales Office	Locality Philadelphia	Package Deal		
Buyer Name	HUTSON,ANDREW	Commission %	15.00	
Phone/Fax	/	Commission	\$16,417.50	
CPE	49/53/13198	Net Total	\$93,032.50	
Account Types	National/Political Issue Agency BRD	Sales Tax		
Billing Type	Weekly/Irregular			
Comments	JACQUELINE PINOU ***** THIS IS A CASH IN ADVANCE SCHEDULE *****			
				1

Johnstown (WJAC) By Broadcast Month	<u>Spots</u>	Rate
Sep. 2024	128	\$109,450.00
Grand Total:	128	\$109,450.00
	128	\$109,450.00

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Times	SPW	Мо	Tu	We 1	Th F	r Sa	Su	Spots	Rate	Total	Station	Comments	Entered
29.0	Normal Line / Football (37)	08/31/24-08/31/24	1		7:30P- Sports-NBC College Football Prime								1	\$2,000.00	\$2,000.00	Johnstown (WJAC)	BIG10 SAT NIGHT FTBL	4/18/24
30.0	Normal Line / Nascar (38)	09/01/24-09/01/24	1		2:30P- Sports-NBC NASCAR Cup Series								2	\$1,000.00	\$2,000.00) Johnstown (WJAC)	NASCAR CUP SERIES	4/18/24
31.0	Normal Line / News (4)	08/27/24-09/02/24	1		6:30A- News-Channel 6 News at Sunrise 630a		1	1	1	1 1			5	\$600.00	\$3,000.00) Johnstown (WJAC)	CHANNEL 6 NEWS 630A	4/18/24
32.0	Normal Line / News (5)	08/27/24-08/30/24	1		7A- NBC-The Today Show Hour 1 & 2	10	D	x	x	x x	(10	\$600.00	\$6,000.00	Johnstown (WJAC)	TODAY SHOW	4/18/24
33.0	Normal Line / News (6)	08/31/24-08/31/24	1	1	7A- NBC-Saturday Today Show			-			1		1	\$400.00	\$400.00	Johnstown (WJAC)	SATURDAY TODAY	4/18/24
34.0	Normal Line / News (7)	09/01/24-09/01/24	1		8A- NBC-Sunday Today Show			1				1	1	\$400.00	\$400.00	Johnstown (WJAC)	SUNDAY TODAY	4/18/24
35.0	Normal Line / News (8)	08/27/24-08/30/24	1		9A- NBC-The Today Show Hour 3	4	1	x	x	x x	(4	\$500.00	\$2,000.00	Johnstown (WJAC)	TODAY SHOW 3RD HOUR	4/18/24
36.0	Normal Line / SPOT (9)	08/27/24-08/30/24	1	:30	10A- Live With Kelly	5	5	x	x	x ¦ x	()		5	\$350.00	\$1,750.00	Johnstown (WJAC)	LIVE WITH KELLY & MARK	4/18/24
37.0	Normal Line / News (1)	08/27/24-09/02/24	1		5A- News-Channel 6 News at Sunrise 5a		1	1	1	1 1			5	\$300.00	\$1,500.00) Johnstown (WJAC)	CHANNEL 6 NEWS 5A	4/18/24
					CO	١FI	RN	1A1	ΓΙΟΝ	C	DNT	RA	\CT					
Accepted-A	gency/Advertiser:			Date:	Accepted-Stati	on:								Date:	Comments:			

6 WJAC	WJAC 49 Old Hickory Ln Johnstown, PA 15905
--------	--

Great American Media
3050 K St NW
Ste 100
Washington, DC 20007

Contract #	6068141	Date Entered	04/18/24	Johnstown (WJAC) By Broadcast Month	Spots	
Schedule Dates	08/27/24-09/02/24	Last Modified	04/18/24			
Advertiser	DSCC Democratic Senatorial Campaign Committee (22946)	Entered By	Matthew Turner	Sep. 2024	128	2
Agency	Great American Media (2231)	CO-OP	No	Grand Total:	128	9
Product	POLITICAL ISSUE (ns) (1187)	External #	10775062			
Brand	49/53/13198 (2014319)	Demo	A35+R			
Salesperson	Locality/PHL, Philadelphia (2992)	Order Type	Normal			
Sales Office	Locality Philadelphia	Package Deal				
Buyer Name	HUTSON, ANDREW	Commission %	15.00			
Phone/Fax	/	Commission	\$16,417.50			
CPE	49/53/13198	Net Total	\$93,032.50			
Account Types	National/Political Issue Agency BRD	Sales Tax				
Billing Type	Weekly/Irregular					
Comments	JACQUELINE PINOU ***** THIS IS A CASH IN ADVANCE SCHEDULE *****					

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Times	SPW	Мо	Tu	We	Th	Fr S	a Su	Spots	Rate	Total	Station	Comments	Entered
38.0	Normal Line / SPOT (10)	08/27/24-08/30/24	1		Orbit- [P]Family Feud(Tu We Th Fr), [P]Family Feud 3(Tu We Th Fr)	4		1			x	1	4	\$350.00	\$1,400.00	Johnstown (WJAC)	Family feud	4/18/24
					CON	١FI	RN	1AT	10	n C	CON	TR	ACT					
Accepted-A	Agency/Advertiser:			Date:	Accepted-Statio	on:								Date:	Comments:			

The parties intend for the Standard Advertiser Terms and Conditions ("Terms") located at... http://sbgi.net/?p=1224 ... to be part of their agreement, and the sale of advertising is expressly subject to said Terms.

Rate

\$109,450.00

\$109,450.00